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1. The intersection of two mutually exclusive events
a. can be any value between 0 to 1
b. must always be equal to 1
c. must always be equal to 0
d. can be any positive value

2. If a penny is tossed three times and comes up heads all three times, the probability of heads on the
fourth trial is
a. zero

b. 1/16

c. 172

d. larger than the probability of tails

3. The Poisson probability distribution is a
a. continuous probability distribution
b. discrete probability distribution
c. uniform probability distribution
d. normal probability distribution

4. Assume that you have a binomial experiment with p = 0.5 and a sample size of 100. The expected

value of this distribution is

a. 0.50
b. 0.30
c. 100
d. 50
5. The point estimator with the smaller variance is said to have

a. smaller relative efficiency
b. greater relative efficiency
c. smaller relative consistency
d

. greater relative consistency

6. The level of significance is the
a. maximum allowable probability of Type II error
b. maximum allowable probability of Type I error
c. same as the confidence coefficient
d. same as the p-value
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7. For a one-tailed test (upper tail), a sample size of 18 at 95% confidence, t =
a. 2.12 '
b. -2.12
c. -1.740
d. 1.740
Exhibit AA
Salary information for a random sample of male and female employees of a large company is shown
below.
Male Female
Sample Size 64 36
Sample Mean Salary (in $1,000) 44 41
Sample Variance 128 72
8. Refer to Exhibit AA. The standard error for the difference between the two means is
a. 4
b. 7.46
c. 424
d. 2.0
9. Refer to Exhibit AA. The 95% confidence interval for the difference between the means of the two
populations is
a. 0t06.92
b. 2to2
c. -1.96to0 1.96
d. -0.9210 6.92
10.  The producer of a certain medicine claims that their bottling equipment is very accurate and that the
standard deviation of all their filled bottles is 0.1 ounce or less. A sample of 20 bottles showed a
standard deviation of 0.11.  The test statistic to test the claim is
a. 400
b. 22.99
c. 4.85
d. 20
Exhibit BB
The table below gives beverage preferences for random samples of teens and adults.
Teens Adults Total
Coffee 50 200 250
Tea 100 150 250
Soft Drink 200 200 400
Other 50 50 100
400 600 1,000

We are asked to test for independence between age (i.e., adult and teen) and drink preferences.
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11. Refer to Exhibit BB. . With a .05 level of significance, the critical value for the test is
a. 1.645
b. 7.815
c. 14.067
d. 15.507

12.  Refer to Exhibit BB. The expected number of adults who prefer coffee is
0.25
0.33
150
200

pae o e

Exhibit CC

SSTR = 6,750 Ho:  pi=po=ps=ps4

SSE = 8,000 H.: atleast one mean is different
nt =20

13.  Refer to Exhibit CC. The test statistic to test the null hypothesis equals
a. 0.22
b. 0.84
c. 422
d. 4.5

14.  Refer to Exhibit CC. The null hypothesi§ is to be tested at the 5% level of significance. The critical
value from the table is
a. 2.87
b. 3.24
c. 4.08
d. 8.7

15.  Inregression analysis, if the dependent variable is measured in dollars, the independent variable
a. must also be in dollars
b. must be in some unit of currency
c. can be any units
d. cannot be in dollars

Exhibit DD
You want to test whether or not the following sample of 30 observations follows a normal distribution. The
mean of the sample equals 11.83, and the standard deviation equals 4.53.
2 3 5 5 7 8 8 9 9 10
11 11 12 12 12 12 13 13 13 14
15 15 15 16 16 17 17 18 18 19
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16.  Refer to Exhibit DD. The calculated value for the test statistic equals

a. 0
b. 1.67
c. 2
d 6

17.  Refer to Exhibit DD. The hypothesis is to be tested at the 5% level of significance. The critical

value from the table equals

a. 1.645
b. 1.96

c. 7.815
d. 12.592

18.  Refer to Exhibit DD. The conclusion of the test is that the
a. data follows a normal distribution
b. data does not follow a normal distribution
c. testis inconclusive
d. None of these alternatives is correct.

Exhibit EE . ,
Part of an ANOVA table is shown below. (hint: you need to fill the table first)

Source of Sum of Degrees Mean

Variation Squares of Freedom Square E
Between Treatments 64 8
Within Treatments 2

Error

Total 100

19. Refer to Exhibit EE. If at 95% confidence we want to determine whether or not the means of the

populations are equal, the critical value of F is

a. 5.80
b. 2.93
c. 3.16
d. 2.90
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20.  Referto Exhibit EE. The conclusion of the test is that the means
a. are equal '
b. may be equal
c. arenot equal
d. None of these alternatives is correct.

21.  Inaregression model involving more than one independent variable, which of the following tests
must be used in order to determine if the relationship between the dependent variable and the set of
independent variables is significant? ‘

a. ttest

b. Ftest
c. Either a t test or a chi-square test can be used.
d

. chi-square test

Exhibit FF
A regression and correlation analysis resulted in the following information regarding a dependent variable (y)

and an independent variable (x).

n=10

2x=155

Zy =55

Tx* =385

Ty?=385

2xy =220
22.  Referto Exhibit FF. The least squares estimate of b; equals

‘ a. 1

b. -1
c. 5.5
d. 11

23.  Referto Exhibit FF. The least squares estimate of bo equals

a. 1
b. -1
c. 5.5
d 11
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24.

25.

Refer to Exhibit FF. The point estimate of y when x = 20 is

a.

Refer to Exhibit FF. The sample correlation coefficient equals

a.

/e o

b
C.
d. -0.5
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